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ABSTRACT

For testlet, it is answered by the provided new situation and information, can
measure the student’s understanding, application, analysis and judging ability.
Generally speaking, a relation exists in each item within testlet. In the recent years,
testlet is an usual type in the Basic Competence Test for Junior High School.
Moreover, current all definitions of discrimination index are only focusing on the
single item. When these definitions are applied to analyze the discrimination index of
testlet directly, not only the discrimination index of testlet can not be calculated but
the relation between items within testlet will be neglected. Furthermore, due to the
lack of the discrimination index study on testlet, this thesis investigates the
discrimination index of testlet by regression analysis with the view point of multiple
correlation coefficient and provides a new direction for the following study. This
thesis is investigating the discrimination index of independent items, and this result is
applied to testlet. For individual items, this study proves that point-biserial correlation
is a special case of correlation coefficient. For testlet, after data collection, this study
calculates the discrimination index of testlet itself by regression analysis. In the
meantime, for investigating the contribution of the discrimination index of testlet of
item within testlet which is getting rid of the influence of the previous items in the
same testlet, this study proposes a new concept of “net score” and “net
discrimination”. First, this study finds the close relation between the discrimination
index of testlet and item within testlet. Second, this study states how to find the “net”
discrimination index of item within testlet is remarkable or not by statistics. Finally,
this study takes the English test items of the First Basic Competence Test for Junior
High School Students in 2010 as example to calculate their discrimination index of
individual item, testlet, item with testlet, and the net discrimination index of item
within testlet, separately, by the deduced formula. A comparison and analysis

between this and related study also have been taken into process in this study.

Key words: correlation coefficient, point-biserial correlation, testlet, item within

testlet, discrimination index, net score, net discrimination index
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Fo—Ms THAESE (FRIKI-I8) - HARBEETLE QLA RENEE

I. Here’s Mary’s plan for one week during her summer vacation, What kind of plan is

this?
(A trmp plan, Mon.  Tues. Wed  Thurs,
(B) A party plan. Swimming. Jeaging Swimming. Jg;g;n;

(C) An eating plan.

basketboll Baskatbal/
(I2) An exercise plan. i

==

'Fr'« é‘a.'ﬂ. (;-nh
Jn;g-‘r;g Tmimi?. Jo;g;f?

Baseball Lennig
2. [ put the fish in the 1ce box 1o keep il
(A) fresh (13) full () new {D} young

wd

The pants | hought last year are tao small now: [ think 1 need a new
(A) belt (B) pair (€) shirt {D} space

4. How can you study in the living room when other people are watching TV? T think
vou need a place.
(A) cleaner (B3) quieter (C) safer {3} smaller

5. Marsha thought her friends would:do something
but they just gave her a little card.

1o celebrate her birthday,

(A) correet (B) honest () quick {D}) spccial

6. When I heard my baby girl say her first ward, my heart was with joy.
(A flled (B) marked (C) preparcd {D) shown

7. It's me a lot of time to find out what T really want to do in the future,
(A) paying (B) spending {C) taking {D} using

. The fishermen knew little about the island when they there.
(A) arrived (13) would arrive — (C) arrive {[2) have armived

9. | cannot understand why Steven bought so many watches but never wears
of them.
(A) any (B) both (C) every (D} athers

A SR
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10,

1.

13

14.

16.

18

In this five-person game, the one wha finds hidden balls will win the last
free ticket for the movic 4 Burn Player.

(A) many (13) some (C) the more {1} the most

Elsa hates poing shopping, she went last night when her grandpa asked her
i buy some medicine for him.

(A) because (B) but (C)if (D) so

2. Gary: | can't find my pen.

Nina: Is the one on Jack’s desk 1= [

Gary: Yes, Thank you.

(A) ming {B) ours (C) theirs (D} yours

Luey: Does Aunt Tara enjoy 2

Mark: Yes. She has three dogs, two rabbils, Tour birds, and some fish in her house.
{A) collecting dolls (B) keeping pets

(C) visiting the 200 (Dyworking on the farm

Sandy: How was vour vacation'in America?

Linda: It couldnt be worse! Tdon™ warl 1o talk aboul it!
(A) even (B) least (C) never {D) then
Teacher: Does anyone know the-famous writer was born?

Mei-ling: 1 know! In Taitung, right?
Teacher: You gat it!
(A) how (B) when () where {0} whether

Alex: Why are you still here? 1U's already eight o'clock.

Tom: Because [ my work. Don'i worry, It's almost done.
(A) wasn't linishing (B) wouldn't linish
(C) haven't finished (D) won’t finish

Mike: 1 always forgel what 1 want 1 buy when F'go Lo the markel.
Oscar: Well, you can make a of things you want to buy.
(A) habit (B) list (C) pack {2} wish

Billy: I've been fixing the compuer for over three hours, but it still doesn’t work.

Nama: Why don’t you take a rest and try ! Maybe you’ll do better then.
(A) early (B) finally (C) later (D} once
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Foo¥a ! TRl —8%Em  H 52788 (ZER19-43) - HREExAMmBEERE
#o BN —EEA AT S E

(19-21)

Mr. Hutman owns a restaurant.. Ope'day, one of his two cooks ran away with
some money. Mr. Hutman was sad and worried hecanse the next day was Saturday, and
the restaurant 19 very busy then. So that night he called his friends, but could not
find anyone to help.

On Sawrday, many people cameta the restaurant for lunch. _ 20 cook pgot so
husy that he wanted to leave, oo, 2T one of the wailers, Tlenry, told Mr. Tiutman that
he could help in the kitchen. People who had'lunch in the restaurant that day enjoyed the
foed Henry cooked. Mr. | Iutman was very happy ‘and made Llenry a new cook of the

restaurant.

19. (A) would he
(Blis
(C7) has heen
(M) will be

200 (A) One
(B) Each
1C) Another
(D) The only

21 (A) Also
(B) In fact
(C) Luckily
(D) For example

Bl
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(22-24)

(In an English class)

Teacher: Let’s play a mame with 3-Ictter words. The game is casy to plav. First, a 3-letter
word is spoken. Then the next person has to say n different 3-letter word that starts
will the last leter of the spoken word. Anyvene who cannof speak a right 3-letter
word in two seconds will have ta 22 . Any questions?

Brian: Yes. Can we try again i we say a wrong word?
Teacher: No, you 23 . Thar's why the game is exciting and fun. Now let’s try it!

Brian: OK! Let me try first. MALL

Amy: PUT.

Jane: TEA.

Ken: 24

Carl: EAR.

Sam: RAIN,

Carl: Ha! I got you.

Sam: Oh, no! | lorgel il has 1o be a3-letter word.

Teacher: Sam, it's your show time. Here's the haok. Pick out any story you’d like.
Now cverybody. let’s listen to Sam.

22, (A)sing asong
(B) read a story
(C) draw a picture
(D) make a funny face

23. (A) have just ane chance
(B) have to give a different word
(C) may look it up in the dictionary
(D) must ask your classmates for help

™)
o

(A) TEN
(B) RED
(C) TAT
(DY AGE
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(25-26)

Stanley was a person who loved singing to himself in the bath. One cold winter
night, he went into the bathroom to have ahot bath, He took off his clothes and turned
on the tap. but there was no hot water — the water from the tap was cold!

Stanley didn’'t know what was wrang; but he finnlly decided to take a hath without hat
water. He started 1 sing as usual, one _sdug after another. Stanley was surprised that the
water felt warm this way. So he kept singing, loudar and louder, until he finished his
bath.

The next morming when Stanley was going to'work, he saw a piece of paper an his door:

™ - i 5

Fowse do wot aipgscisad® ) Coery éon
LIE (L0 it ’fey ALl ff"ﬁ)(g’f m-@g{ﬂﬁ’

d.rbry, ; ;g,r&f @ Aea(éza‘z:e, cond wy af(ﬁy e,

p R

25, What does the mother think of Stanley?
(A) Ie gets up too early.
{B) He is a helpful person.
() He should see a doclor.
(D) e makes too much noise.

26. What does Lhis wiy tncan?
(A) Singing to a crying baby,
(B) Singing when taking a cold bath.
(C) Taking a cold bath in the morning:
(D) Taking a bath before going to bed.

Bl

66



(27-28)

Here 15 a poster of the Youth Sports Club. Read it and answer the questions.

( Youth Seorts Club

Sport of the Month: Tennis

Date Event
Feb. 6 Play tennis with world-class players
Feb. 13| Play a tennisgame on the Internet
Feb. 20| Video program: Great Moments in Tennis
Feb. 27| Movie: Tennis Girl from the Moon |

|

11:00 a.m.~7:00p.m.

' Ticket price for each event:
=+ 5$100 a person
‘ »$50 a person for groups with over 15-personj

(AN
poster 4R
event & &

(3% ]
-1

7. Mr. Brown, a Pk teacher, took his students to the club, There they watched early
tennis games and leamned about the history of the sporl. When did they most likely

visit the club?

(A) February 6. 98]

(B} February 13. likely T3z
(C) February 20.

(D) February 27.

28. Mr. Brown paid $1,050 for the Lickets. How many students did he take with him?
(A)25. '
(B) 20.
(Cy15.
(023 10,
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(29-30)

Can the Time Go Slower?
by Joanna Pitt

Can the time go slawer?
1I'm still thinking of
The answers.

Can the-time go slower?
M-y head isnot
Yetelear,

Cun the time go slower?
For me the rules of math are
Too hard 1o remember.

Can the time ga slower?
My arade is-what my father
Really cares about.

So can the time go slower?
My dear teacher,
I don’t wiant to run behind others.

OhNG!
There are still lots of questions
To be answered!

30,

What is the reading ahout?
(A) Taking a test.

(B) Teaching math.

(C) I.earning driving.

(D) Running at the school.

Why does the writer keep asking “Can the time go slower?”
(A) She is missing her good ald times.

{13) She does not want to get old with time.

(C) She is worried that there's not enough time.

(D) She is afraid that her father will be home soon.

7

HRE BRI L
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(31-32)

v

S ] ey
My family and | have ridden hikes argund the island several
times. My friends often ask me questions about biking with their
families. I'm sorry to leam that some of them don’t really enjoy biking or
zet hurt on the road because they don't prepare well. Here | want to
share some things that 1 think are impartant before you start off:

1. Get a bike of the right size for everyone in your family.

2, Cheek every part ol vour bike earclully.

3, Learn to fix some easy bike problems.

4. Check the traffic and weather news.

3. Pack maps, warm clothes, raincoats. snacks and enough water,
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What is the writer talking about?

(A) How to [ix a bike on the road.

(B) How ta save money on a bike ride.

(C) Things to do for a safc and happy bike ride.

(D) Things to remember when you get-hurt on the road.

. Which is said in the reading?

(A} Biking is good for health.

(B) More and more peaple go 1o work by bike.

(C) Biking around the island is getting popular.
(1) The size of the hike is impartant for blklng.
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(33-35)

Ben:
Judy:

Ben:
Judy:
Ren;

Judy:

Ben:
Judy:

Ben:

(AL the beach)

Hi, Judy! [ can’t believe you cameto join us!

Hello, Ben. | came hecause | Iike-ybur iden: when you give, vou're rich, I'm
happy that | can do something for the-Earth,,

Right. That’s why we had this plan to get our clean beach back. Do you know
i Paul’s coming? | remember he had the same idea and said he would try hus best
W Come aver

But he just called and said he wouldn’t comc today because it's too hol,

1 can’t believe it! He always savs; “Wecan do this and thar . .. .”

Don't vou know him? He only pays lip serviee to what should be done but
seldom does anything.

I'see. Let’s forget abaut him. We'll have Tony and Sophiz to help us soan.
That’s greal. So where should we starl now?  Should we pick up those botlles
first?

Sure, let's go.

33. Why arc Ben and Judy at the beach?
(A) To go swimming.
(B) To clean up the beach.
(C) To have a beach party.
(D) To learn ahout sea animals.

34, What dogs Judy mean by saying Paul pays lip service?
(A) He enjoys eating.
(B) He 15 2ood at singing.
(C7) Te talks a lot but does Tittle.
(D) He kisses people to show his thanks.

35, Which is true?
(A} Paul comes to the beach in the end.
(13} Judy feels bad aboul gomg Lo the beach.
(C) Ben is surprised to see Judwiat the beach.
(D) Tony and Sophic will not come to the beach,

HRE BRI L

70



(36-38)

Alice:

Jerry:

Alice:

Jerry:

Alice:

Jerrv:

Alice:

Jerry;
Alice:

Hi, Jerry, | heard you hud fun with Peggy in Merry Purk yesterday.

Yes. We had a great time there, Why didn’t you come with us? We got there by
bus in only ten minutes.

[ know, but the ticker is more expensive on the weekend. Also, ['ve been there
many Limes sinee it opened five years ago, Did you try the Dandelion Seat there? [t's
s popular that people have to wait for over an hour to get a ride.

You mean those Hower-like umbrellas that Ty high in the sky?

Yes, 1 enjoved riding on the Dandelion Seat and looking over the ciry. It was a
greal experience.

Eh ... Iliked taking the train ta getaround the park better. T don’t think it’s fun to
ride in the air. 1'd feel like Leould fall dowmany lime.

Maybe vou would like it more at night. It’s wonderful to see the beautiful lights
below vour feet.

Well . . . I'm alraid ol high places.

Oh, I see. That's too bad.

36, W

hat can we learn about Merry Park?

(A) It is newly opened.

B
(c

) It 15 also open al night.
) It is across from Jerry's house.

(D) It has the same ticket price every day.

Lad
=]

. What may the Dandelion Seat look like?
(A) (B) ()

38, Which is NOT true?
(A) Alice went to Merry Park belore,
(T3) Jerry enjoyed going around Merry Park by train.
(C) Jerry would like to try the Dandelion Seat next time.
(D) Jerry and Peggy went 1o Meérry Park on the weekend.
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(39-40)

Below are the comments on the book The Flyving [lar.

— !
W sag Fly;
— LA ;
S0a0 ng Halt.* ;
]
*“The most sidesplitting stary I've ever read. | couldn™ stop %
laughing after | finished it Bé ready to laugh your heart g;l
out.” ~
Willy King. Best Book winner I..n
g
“It's a story that makes you smile in your dreams. Blackman's m
excellent writing cheers youup.™ Eh
The Tide, London
“One of the best-selling baoks of the vear. More than wa
million copics have beei'sold.” e
The Sunday Reader, New York E
3
“This book has become the talk of the country. The story is X
making its way into mavie thearers; I can’t wair to seeg it!” %
Marian Miller, author of Ms. Lilly g
‘ =
| i
* =/

t

comment  Fis

39, Which is suid about The Flving Harl
(A)A movie about the story is coming out.
(B} The story is abaut a boy whohas a magie-hat.
(C) The writer started the book because ol a dream.
(D) People can buy the book in different languages,

40, What does sidesplitting mean?
(A) Funny. (B) Simple. {C) Serious. (D) Dillicull.

11

R EE S RS

72



(41-42)

Read the play and answer the questions,

NN RN RN RN AR RN A NN AN E R AR R RSN AR AR R RN A RN AR RN AR AR R ERNA NS

Place: 4 childs raom with white walls, a white docs, and a white bed. On the
hed, there are someclathes.
Character: A dolf, whoe looks very oldiand dirty, 1s sitting on the bed and speakiing.

The dolt: She should be here soon. Wewill play-some games today.

{Three howrs pass. NO ONE knocks on the door)

w more seconds. We might plav “try-on-neanclothes™ today,
(Five hours go by, NO SOUND is heard)

The doll: Maybe the school bus is late. Soon she’ll be here, and we will sing and
dance together.

(Cne dav has floven away. The doilis<till sitting on the bed, waiting.)
The doll: Maybe tomorrow . . .. T'm sure She’ll come tomorrow, and then we will
play.
(There in the room, thedoll vepeats the same story everv day . .. .}
[XR
play iE &

character & &

41.

What happens in the play?

(A) A doll is changing clothes.

(B) A doll is talking to herself.

(C1 A doll is singing and dancing.

(D3 A dell is waiting for the bus to school.

What can we learn about the doll?

(A) She likes to play by hersclf,

(3) She is good at telling stories.

(C) She lives in a roam full of colors.

(L) She has been forgotten for some time.

12
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(43-45)

s
Dear Mom.

I’m sorry that [ can’t go back hoime for Mother's Day next week. On
that day, T'll have o go to an impertant meeting for my boss, who helps me
a lot with my work and life here. But I'll find time 1o see you at home soon.

Mom, thank you for everylhing you've done for Tim and me.
After Dad died ten yvears ago, you had fo work in a supermarket in the
daylime and in a restaurant at mght. Bul you alwavs gave us two
your love and care. Though you don’t have to work now, 1 still
remember your coming home date and feeling tired many evenings.

Tim is going to finish his studies next month, Hg said he would
move back from school and leok for a job near home. I'm glad you won't
live by yourself anymore. Let’splan to take a trip in the near future. 1t’s
been years sinee the three of ustookia trip together.

Happy Mother’s Day. 1 lewe your, Mom.,

E Best wishes,
i John
e —
43, What can we learn about John's:mother?
(A) She lives by herself now, '
(B) She still works day and night.
{C) She will make a plan to save money.
(D) She usad to be too busy to care for her children.
44, What do we know from the letter?
{4) John has two brothers.
(B) John is unhappy with his boss,
(C) John has to work on Mother’s Day.
(D) Tim will leave hame for his job soen,
45, Which is said in the letter?
(A} John’s father died av work.
(B3) Tim will Took for a teaching job.
(C) John hought a gift for his mother.
(D) John hopes to take a trip with his family,
b A R
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